Nasledujici ramecek si, prosim, opiste do Skolniho sesitu (English):

PRITOMNY CAS PRUBEHOVY — OTAZKA

- otazku tvofime zménou slovosledu, to znamena, Ze tvar slovesa ,to be” stoji na zacatku
véty

sloveso EAT

Jednotné cislo

1.Jim? — Am | eating?

2. JiS — Are you eating?

3.Ji? (on, ona, ono) —Is he eating? Is she eating? Is it eating?
Mnozné Cislo

1. Jime? — Are we eating?

2. Jite? — Are you eating?

3. Jedi? (oni, ony, ona) — Are they eating?

Pokud zacindme otdzku néjakym tazacim vyrazem, napf.:

who /hu:/ - kdo

what /wot/ — co

where /wea/ — kde, kam

when /wen/- kdy

why /wai/ — proc

stoji tento vyraz na zacatku véty a tvar slovesa to be hned za nim.
Who are you speaking with? = S kym mluvis?

What are you doing now? = Co ted délas?

Where are you going? = Kam jdes?

Why is your brother sitting on the floor? = Proc tvlj bratr sedi na podlaze?
Is her sister going to the cinema? =Jde jeji sestra do kina?

- Yes, sheis./ - No, she isn’t. = Ano, jde./ Ne, nejde.




